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Note :

(i1)
(iii)
(iv)

)

(i)

()  FUH I AT 8, 99 @ fbee via & 3w A5 1
Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) % 97 S Gt 47T & FHIR T G 5T FHoF |
Solve all parts of a question consecutively together.
(iii) FAF F97 F1 79 98 & I70y Ffd |
Start each question on fresh page.
(iv) @1 YT9TH § 3R 817 #1 a7 331 srqare @ = & 1

Only English version is valid in case of difference in both the languages.

ot SR EER SISt & 379 o TR 8 7

What do you understand by a fully connected telecommunication network ?
1Tk e & 31T o EHEA € 7

What do you understand by traffic load ?

WAN & fohegi €t @ 3 gifai 1 farfae |

Write any two advantages and disadvantages of WAN ?

PSTN %! aftifya ifs |

Define PSTN.

S T I T G |

Draw the busy tone waveform. (2x5)

forta frfra g favem wig fegm < afem srigvre W |

Explain the working of output controlled time division space switch with neat
diagram.
IRV 49 TV T et &6 |t e |

Explain general time multiplexed time switching with neat diagram. (6x2)

(1 0f2) P.T.O.
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Explain various modes of centralized SPC in electronic space switching.

Tt wiw et 1 f3-wal s (N x N) ! gH3T |

Explain the two stage network (N x N) in electronic space switching. (6x2)
gt feafm & el TS feam =1 awemsT |

Explain two stage TS switch in combination switching.

Y SRl o Tided SgeTehtol i AR |

Explain source multiplexing and destination multiplexing. (6x2)

T TSI 2000 FeHEHES < FaTd a1 € | 3f sfted BHCA 10,000 3T CCR 60%
2 7t 39 TS ) R TUe HITOHT 1 H 0T AT |

An exchange serves 2000 subscribers. If average BHCA is 10,000 and the CCRis
60%, calculate the busy hour calling rate.

iRtk Sofovartio o wiet gifthep R & Yarefied <t ARSI |

Explain network traffic load and parameters in traffic engineering. (6x2)

- @y ki i et arese |
Explain time multiplexed space switch with neat diagram.

fnta Frifya awa fem g fere @ awgm |

Explain output controlled time division space switch. (6x2)

T danatt & wffaede srfem F d 7 eHEse |
What is abbreviated dialling in enhanced services ? Explain.
TogTTIeh Tiw TRt 3 SRR STHFR i quase |

Explain the “software architecture for electronic space switching”. (6x2)

g Tl & w afw Roaford faRaw :

Write short notes on any two :

(i)
(ii)

EECICRIE D

Markov processes
LAN, MAN 3R WAN ¥ 31=C
Differentiate LAN, MAN and WAN

(iif) Foesiea

EPABX ' (6x2)



